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Please show each reaction mechanisms and explain the streoselectivities.

1-1) A (2.0 eq), CuCN (0.1 eq), THF, 0°Ctort, 1 h

1-2) Br, (1.3 eq), NaOMe (in MeOH, 4.8 eq), DCM,
—20 °C, 4 h then AcOH, 81% (2 steps)

1-3) MeMgCl (1.0 eq), Pd(PPh3)4 (5 mol%), THF OTIPS
then B (1.5 eq), 40 °C, 10 h, 88%
O 1-4) C (2.0 eq), TMSOTf (1.5 eq), Et,0,
QW\ 78 °C, 15 min, 88%
> O
OPMB ™S~ OPMB
2-1) D (1.2 eq), SnBr4 (2.2 eq), DCM, —78 °C to —20 °C,
OTIPS 2 h, 86% (dr = 1:1) OTIPS Me
2-2) PdCIy(MeCN), (0.15 eq), dppf (4.5 eq), =
DMF-MeOH-Et3N (4:2:0.06), CO(1 atm), 80 °C, 5 h, 93%
0 2-3) InBr3 (1.5 eq), NaBHy4 (2.0 eq), THF, rt, 2 h, 90% _ 0O O
NP2 MeO,C.__~
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